| |

PHYSICS 24
HOMEWoRK SET 3
<Z‘> E = XmO(}’. ! m, Cz
’ , l"“%z.
2 - y 2 4
- = D 1~ Y, = Tt
Voo g Ml 1 0agt 0%t o, 3
e’ 1= Y W Cirioter = VIIED
(2) k&k 13,2
Keev - @-)m,c c’
Q REL - 2 I —
[) K:L_ l/p,n’\c.\/’Z (2‘ ) b
\7_ p%
Y - ’_k = _\é/g Use (1#%) ZA-Lxs 3 x
l‘Véz. &
Yx Ak L %
Y 2 2 Y\ 2
= Keew x 2(ey %3 A -0 (0028

107, dfferouce dloa 5 Y --L

35500

-

L [0 () mcx 0.0F MG

for eledrors  [K= 0.0fx05) MeV= 0,036 Hﬂ/
‘F@‘ Vw’(oﬂ% K= 0.09 9% He\/ = 65 Mol

Ty




| ]

35500

@) Kk By e L,
For gacl. porticle £- ¥m,~*
For porlicle 4 P= gmav X

Do Qoreufé ff’uw,ggoflwo&m N W Sj&fé& o‘f
Eg= 8 (E +VPu) = 0({m,C +¥my*)

2 z
Ei’; Ym o (L+ g) 2 m

)
l*véz

Yo

@ KeK |38 (a)

betore Mﬂ%@v—omo After ?

I

D owE o )

"

=
4

Look o the 4-Vedkors Ee@r@ oud o,elé/ T will
T wl wnte the g-vedors oo (& F % F) /,i"%zi
Dofae | dptine belou)

7/@: (Eo, 00, Eo) f; - (-Xmo«rj 0,0, Im.)

pliy
Mier ‘ | - |
v = (0/ E) O) -'E\ /E{\ = <6mo'D')CoSQ'/ —XMO'VSMA} O/X"
N ootz of
‘e pltefron

oFter Yhe collisuon

\




| |

35500

@fﬁ%’ 5 (b’m VeosH, E-§myN'snd, o ¥m,+E)

(b/\seme on of 4- momentum M&e book nofetion
E.=¥m,c”

E,- vVE: - 5 My cosd) )
v = k- K)Amov’gan@ (Z)
Eo+ Eé = ¥'my+E @,

Thr&? equatons ’ﬂ(% un knowns._ Feom Now ONn MK
| (fr 8, E) —— -

Rewrte U) owd (2) o

o-VE; = ¥'myr cosd
E = ?S’fy’ov’ sin&

=> 3"nd = - 7E) + E +m? (4)
B equekion (2) 1 x'mg = EHE -E

’l’okm5 the sqv»ore of Hus QMGl Fﬁuggmg wa(L“)
EA-B) - (6 - TE)E

f»«E +E +2L,E; 2EE,,+€) E+VE ZEE’U+
(1- VZ)E + 2B (A+v) = 2£ (E,4E;) +m 2

SCIW botls @“‘@tof\s oud sum _ [Ase sind+ cosd=
(E-vEJ+ E= 8= B < ¥/ - m?
NEeedion
colliston

E ;‘m:




|

But (”‘V?E(,Z—‘- é“VyX?’?gz: /- 'z'moz: m *
1-yE “

(Remewsher, T hod set (- 4)
’/Za,f/é?e _7%2 29tn ot Hie batfon, of the (est pege

mes ﬁ/ ‘ 7
o™+ ZEE (1 4v) = 2F (Bt Z; )ity

/E‘ %EJM - Eo(/)f V/c) Z /rhaue reslor<d.
: ot & 1 4 E&q x e roptiofg
( ’ | /?3,2«’ fo d:f‘/)o FPZ

of e very end

2k 4.\
@ 1 wﬁ% sA c=14 n the QQae'L’l&

At o N
— e L, Edwmw [BIIR-E
e e x
@)

El: (Ewsé, ESmA, O;) &)

E = (Ewsé) =Cnd, 0)' g)
(i’,d:\’}) B ’7E_((,oséj o, 0,1) |
(9*@)2: H; =» ZJEZ[»{-Co?é): 74‘{; => 2F sind=

sind= Meeo 35 _piis. [Aw s
ng= He- 5 pgs |Qxae

v
/

TLe Qs 't; o)\ .
Conservetion OFPZ:;@{,; =

¥m.=7  L.mg |-
4 g !




|

7\

35500

) kek (u.2

Set c=1

M Huestold 1y He O frowe o powed Tosre of rest
Aol = [0-’ M tty, ) = ﬁ/‘;,p&/ﬁ“ ,%)2

In lob fmwe

before collision’

B=(E,0,0€)

S ()

Ly
g

Aﬁg: /0/ 0/ o, /7’7/0)

[E+MP) -& - /””* /

C = é?zguzs) ‘}3% B8y 16 e/

29 3

/

T,

A

e

be
S Que

Etp) = beﬁ:« - (Emp)-ET

€




